COMPLEX ANALYSIS continued...

By Dr. Babita Mishra Assistant Professor, Department of Mathematics, School of Physical Sciences. Mahatma Gandhi Central University, Motihari, Bihar.

Taylor and Lawrent Series # Expansion of analytic functions as power series power series: A series of the type 2 an (3-30) Th-1 (Taylor's Theorem) let fla) be analytic at all points within a circle Co with centre 20 and badius for Then for every point & within Co, we have f(3)= f(30) + f'(30) (3-30) + f'(30) (3-30) + + · · · f⁽ⁿ⁾(3.) (3-3.)"+ · · · -

Co Proof let 3 E int Co. circle = 7, and let C be and radius f r < 9 < 90 (so that 3 lies inside c) By candy's Integral formula, $f(3) = \frac{1}{2\pi i} \int \frac{f(\lambda)}{\lambda - 3} dx - - 0$ now we can write $\frac{1}{3-3} = \frac{1}{(3-3_0)-(3-3_0)} = \frac{1}{3-3_0} \left[\frac{1}{1-\frac{3-3_0}{3-3_0}} \right]$ $= \frac{1}{3-30} \left[1 + \frac{3-3}{3-30} + \frac{(3-30)^2}{(3-30)^2} + \frac{(3-30)^{-1}}{(3-30)^{-1}} \right]$ + (2-30) - - 3-30 (5-20) 1- 3-30 $S(1-x)^{-1} = 1 + \pi + \pi^{2} + \pi^{3} + \dots + \pi^{n-1} + \pi^{n}$ = 1 + \pi + \pi^{2} + - - \pi^{n-1} + \pi^{n} (1 + \pi + \pi) + - + 2 + 2 (1-2) - - + x + x . 1-x

$$= \frac{1}{\lambda - 3_{0}} + \frac{3 - 3_{0}}{(\lambda - 3_{0})^{2}} + \frac{(3 - 3_{0})^{2}}{(\lambda - 3_{0})^{3}} + \cdots + \frac{(3 - 3_{0})^{n-1}}{(\lambda - 3_{0})^{n+1}} + \frac{(3 - 3_{0})^{n}}{(\lambda - 2_{0})^{n+1}} + \frac{(\lambda - 3_{0})^{n}}{(\lambda - 2_{0})^{n}} + \frac{(\lambda - 3_{0})^{n}}{(\lambda - 3_{0})^{n}} + \frac{(\lambda - 3_{0})^{n}}{(\lambda - 3_{0})^{n}$$

$$\begin{array}{c} \text{using derivatives for analytic fus, we have} \\ \text{(s)} = f(3_0) + (3_{-3_0}) + (3_{0_0}) + (3_{-3_0})^2 \cdot \frac{f''(3_0)}{2!} + \\ + f(3_{-3_0})^{n+1} \frac{f''(3_0)}{(n-1)!} + R_n \qquad 3 - (3) \\ \text{ushere } R_n = \frac{(3_{-3_0})^n}{2!n!} \int \frac{f(R)}{c} \frac{ds}{(s-3)} (s-3_0)^n ? - (9) \\ \text{now we have to show } R_n \to 0 \text{ as } n \to 0 \\ \text{Mov we have } [3_{-3_0}] = ? , [3_{-3_0}] = R \\ \cdot [3_{-3_0}] - [(3_{-3_0}) - (3_{-3_0})] = R \\ \cdot [3_{-3_0}] = ? , [3_{-3_0}] = R \\ \cdot [3_{-3_0}] = \frac{1}{2!n!} \int_{c} \frac{f(R)}{(s-3_0)} ds \\ = \frac{3}{2} - ? \\ \text{denotes } (R + R) \\ = \frac{(3_{-3_0})^n}{2!n!} \int_{c} \frac{f(R)}{(s-3_0)} ds \\ = \frac{3}{2} - ? \\ \text{denotes } (R + R) \\ \text{denotes } (R + R)$$

 $\leq \frac{|3-30|^{n}}{|2\pi i|} \left(\frac{|f(h)||dh|}{|h-31||h-30|^{n}} \right)$ $= \frac{r^{n}}{2ft} \frac{M}{(3-r)s^{n}} \cdot \frac{2ft}{s} = \frac{M!}{s-r} \left(\frac{T}{s}\right)^{n}$ $\cdot \cdot r < s \Rightarrow R \cdot H \cdot s \cdot \to 0 \quad \text{an } n \to \infty$ => Rn no as n-soo as noo, the limit of the sum of the Thus as now, the rest of (3) is f(3). first m terms on the rest of (3) is f(3). $f(3) = f(3_0) + \sum_{h=1}^{\infty} (3-3_0)^h f^{(n)}(3_0) \int f(nwh a)$ Taylor series.

Remarko: when 30=0 @ reduces to [f(3)= f(0)+ 237 f"(0) | Machaumin's series.

Remark-2 To winte f(3) as an expansion as a Taylor's series, it is essential for a fue to be analytic at all pts unide the circle. Co then the convergence of Taylor's series assured. Hence the greatest radius of convergence of series is the distance from the pt. 30 to the nearest pt where the fue is not analytic.

$$\frac{E \times ample}{3 = 0}, also \quad find \quad the region of convergence
for the series.
Sol3 & ev f(3) = log(1+3)
Then $f(0) = 0, f'(0) = 1$
 $f''(0) = -1, f''(0) = 21$
 $-- f^{(v)}(0) = (-1)^{n-1}(n-1)!$
Thure fore. $f(3) = log(1+3) = f(0) + 3f'(0) + \frac{3^2}{2!}f''(0) + \frac{3^2}{3!}f''(0)$
 $= 0 + 3 + \frac{3^2}{2!}(-1) + \frac{3^5}{3!}(2) + \cdots + \frac{3^n}{n!}f''(0) + \cdots$
 $= 3 - \frac{3^n}{2!} + \frac{3^5}{3} - \frac{3^n}{4!} + \cdots + (-1)^{n-1}\frac{3^n}{n!} + \cdots$$$

For convergence of series. for ? let un = (-1) -1 " unti= (-1) 2" $\frac{|u_n|}{|u_n+1|} = \frac{|u_n|}{|u_n+1|} = \frac{|u$ I by using ratio test, the series converges for 13141. for 131=1, for 3=-1 singularity of nearest the pt 3=0. I the fax series converges for all values of 3 within the circle 131=1

write following in Taylor series expansion about 3=0, also give the region of convergence O cos z EDo by youlref 3 De2. @ sinz SRead power : R -> R by -fins = 1+24 { series? Connder power series about as o is given by $f(n) = (1+x^{i})^{-1} = \sum_{n=0}^{\infty} (-1)^{n} - x^{in}$ On the other hand, its complex analog 1+34 bas is not analytic f(3) = 3t= e 2=0,1,2,3. clearly, the distance from 0 to the e (24+1) 17/4 nearest singularity is 1. which is the radius of convergence for the correspon series about 0. The Part of the Pa

Lawrent's Theorem
(et f(3) be analytic is the annular domain bounded
by two concentric (irds
$$C_1 \neq C_2$$
 with centre \exists_0
and radii g , and g_2 $(g_1 > g_2)$ and let \exists be
any point of D then
 $f(3) = \sum_{h=0}^{\infty} a_h (a - 3_0)^n + \sum_{h=1}^{\infty} b_h (a - 3_0)^{-h}$.
where $a_h = \frac{1}{2\pi i} \int \frac{f(s)}{c_1(s - 3_0)^{h+1}} ds$, $b_h = \frac{1}{2\pi i} \int (\frac{g_1 - 3_0}{g_1})^{h-1} ds$
 $T = 1, 2, 3, ...$

to and a

$$\frac{p_{100}f_{1}}{16} \frac{e_{1}}{16} \frac{1}{16} \frac{1}$$

new convider the 2nd Integral of 0
for any point
$$A$$
 on C_2 , let
 $-\frac{1}{A-3} = \frac{1}{(2-3\alpha)-(A-3\alpha)} = \frac{1}{(3-3\alpha)-(A-3\alpha)}$
 $= \frac{1}{(3-3\alpha)-(A-3\alpha)} = \frac{1}{(3-3\alpha)-(A-3\alpha)}$
 $= \frac{1}{(3-3\alpha)-(A-3\alpha)} + \frac{(A-3\alpha)}{(3-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-(A-3\alpha)-$

$$T - \frac{1}{2\pi i} \frac{1}{(2-3\alpha)^{k}} \int_{C_{2}} (b-3\alpha)^{k-1} f(b) db + 5_{k}$$
where $S_{n} = \frac{1}{2\pi i} \frac{1}{(3-3\alpha)^{k}} \int_{C_{2}} \frac{(b-3\alpha)^{k}}{2-b} f(b) db$
now let $b_{n} = \frac{1}{2\pi i} \int_{C_{2}} (b-3\alpha)^{n-1} f(b) db$ we have
$$-\frac{1}{2\pi i} \int_{C_{2}} \frac{f(b)}{b-2} db = b_{1} (3-3\alpha)^{-1} + b_{2} (3-3\alpha)^{-2} + \cdots$$

$$+ b_{n} (3-3\alpha)^{-k} + 5_{n}$$
To bhav $S_{n} = 0$ as $n = \infty$,
we have $[3-3\alpha] = 8$, $[b-3\alpha] = \beta_{2}$ and $\beta_{2} = 7$

$$[3-b] = [(3-3\alpha) - (b-3\alpha)] \ge [3-3\alpha] - [b-3\alpha]$$

$$= 8-\beta_{2}$$

 $|Sn| \leq \frac{1}{2\pi} \frac{1}{[(2-30)]^n} \int_{C_2} \frac{14-30}{[3-31]} \frac{1}{[F(A)]/ds} \\ \leq \frac{1}{2\pi} \frac{1}{[(2-30)]^n} \int_{C_2} \frac{13-31}{[7eplaud by min value.]} \\ \stackrel{(a)}{=} \frac{1}{2\pi\pi} \int_{C_2} \frac{f_2^n}{(2\pi\pi)^n} \frac{1}{[m_2]/ds} \int_{C_2} \frac{1}{m_2} \frac{1}{[m_2]/ds} \int_{C_2} \frac{1}{[m_2]/ds}$ Hence $= \frac{1}{2\pi} r^{n+1} \cdot \frac{S_2 M_2}{1 - \frac{P_2}{1 - \frac{P_2}$ fz < 1 as rofz =) <u>fr</u> -30 an 30 =) saso as n-30 Thus we get $-\frac{1}{2\pi i} \int \frac{f(s)}{s-3} ds = Z b_n (3-3_0)$ using @ A @ in @ we get $f(3) = Z a_n (3-3_0)^n + Z b_n (3-3_0)^{-3}$

Remark we can see that bus an
hence the series expansion can be written as

$$f(3) = \sum_{n=1}^{\infty} a_n(3-a)^n$$
 where $a_n \cdot \frac{1}{2\pi} \int_{C} \frac{f(x) dx}{(x-3a)^{n+1}}$
and c is circle of radius $3 \ni$
 $g_2 \subset g \subset g_1$.
Uniqueness Theorem
for $f(3)$ as $f(3) = \sum_{n=1}^{\infty} P_n(3-3a)^n$ $P_2 = [3-3a] < 3$,
Then we have to show that it is identical with
the Laurent Series.

be the circle 13-301=9 proof. ut 82 68 631. Then the coefficient series expansion is given an = 1/21T' (5-30) ht of = 1 (1 20) ht 2 Pm (A-30) ds $=\frac{1}{2\pi i}\sum_{m=2}^{\infty} f_m \int \frac{(x-3_0)^m}{(x-3_0)^{n+1}} dd \qquad \begin{bmatrix} \text{Aerm by term} \\ \text{integral}^n & \text{is possible} \\ \text{as Aeries is} \\ \text{uniformly convergent} \\ \text{uniformly convergent} \\ \frac{1}{2\pi j}\sum_{m=2}^{\infty} f_m \int \frac{g^m e^{im\theta}}{g^{n+1}} \frac{g^m e^{im\theta}}{(x+1)\theta} (ge^{i\theta} d\theta) \quad \text{on the given domain} \\ \frac{1}{2\pi j}\sum_{m=2}^{\infty} f_m \int \frac{g^m e^{im\theta}}{g^{n+1}} \frac{g^m e^{im\theta}}{g^{n+1}} (ge^{i\theta} d\theta) \quad \frac{1}{2\pi j} = ge^{i\theta} \frac{1}{2}$

= 1 ZPm Jgm-n (m-n) io 211 m=-0 0 when $m \neq n$, $\int_{0}^{2\pi} e^{(m-n)i\theta} = \left[\frac{e^{(m-n)i\theta}}{(m-n)i} \right]_{0}^{2\pi} = 0 \begin{bmatrix} shnow \\ it \end{bmatrix}$ when m = n, $\int_{2}^{17} e^{(m-n)/10} d\sigma = \int_{2}^{217} d\sigma = 2TT$ Hence we get $\int_{2}^{17} e^{(m-n)/10} d\sigma = \int_{2}^{217} d\sigma = 2TT$ $a_n = \frac{1}{2TT} \int_{n+2TT}^{n} = P_n \Rightarrow Griven series is identical$ $<math>a_n = \frac{1}{2TT} \int_{n+2TT}^{n} = P_n \Rightarrow Griven series is identical series.$

Some Remarks on Lament Series expansion Every analysic function of its the annulus Remark .: 1 segion RICIEICR2 can be uniquely decomposed into a sum $f(3) = f_{-}(3) + f_{+}(3)$, where $f_{+}(3)$ is analytic for 131 < R2, and f- (3) is analytic for 131 >R1. Remark-2 The expansion when RICICR2 be analytic is some nod, say D= { 3: 1-E< 13)<1+E} E>0 of the unt circle 131-1. then for 3 in this mod we get es circle 131 $-f(3) = Za_{1}3^{n}$, $a_{1} = \frac{1}{2171} \int \frac{f(3)}{-14}$ -ino 27) $= \frac{1}{2\pi} \int f(e^{i\theta}) e^{-i\eta} d\theta$ (de ie de In particular, lef flet) = Flt, and z= e int FLED = Zane int with an= 1 SFLEDE de ve Fourier services of F is the complex form.

Romark-3 If f is analytical 3=0 then the corresponding f_(3)=0 S as I cannot be is and the Lawrent series becomes the Taylor series about 0.

 $\frac{E_{X}-1}{f^{(3)}} = \frac{1}{43-3} = \frac{2}{2} \cdot \frac{3^{n-1}}{3^{n-1}} \left[\frac{4^{n+1}}{4^{n+1}} \right]$ $\frac{f^{(3)}}{f^{(3)}} = \frac{1}{43-3} = \frac{1}{2} \cdot \frac{1}{3^{n-2}} = \frac{1}{3^{n-2}} \left[\frac{4^{n+1}}{4^{n+1}} \right]$ $\frac{56t^{n}}{3} \cdot \frac{1}{3} \cdot \frac{1}{3} \cdot \frac{1}{43} + \frac{1}{3} \cdot \frac{1}{43-32} = \frac{1}{3} \cdot \frac{1}{3} \cdot \frac{1}{43} - \frac{1}{3} \cdot \frac{1}{43} = \frac{1}{43} \cdot \frac{1}{43} \cdot \frac{1}{43} + \frac{1}{43}$

THANK YOU !